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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o4 2PCANT T fira

(a) What is cardinal utility?
RATRGT SAcAarer 2

(b) What is the marginal rate of substitution
between two perfectly substitute goods?

w51 4 R AR cvae afee afors 79 &
37

22A/39 ( Turn Over )



(2)

(c) Define income effect.

o R 15T 0w |

(d) What is meant by a person be ‘Tisk
averse’?

IE GGTT 31 Hfrzs’ e & e w2

(e} Why is the average fixed cost curve
rectangular hyperbola?

oG &9 I @I SHeN “_Ige 9 2 7

(/. 'When is the long-run average cost curve
L-shaped?

T 91C I @ISR (o0 L-S1e 28 2

(g) What is production function?
e 1 {35 2

(h) Define expansion path.
SEPTR A/ F5eT fo |

(i) State the concept of shutdown point of a
firm

<01 BT Seof I R34t S <441 |

() Define opportunity cost.
STCAe] qRE Fg e |
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(3)

2. Write short answers of the following
questions : 2x5=10
e 2PN Y Be] fud

(a) What is meant by slope of a budget line?
ACED @41 GO Bl T 3@ I/ ?

(b) Distinguish between gross demand and
net demand.

P oI W 9% HIRAR W A1 ey w4 |

() What are short-run and long-run costs of
production?

A S TLFTA SRATA T ACA 16 2

(d) Establish the relationship between total
utility and marginal utility.
P Toarel wF e TAROR e FooE
Fo| 41 1

(e} State the concept of optimum firm.

I AfSDHT 4RAICE! SCEY T4

3. Answer any four of the following questions :
5x4=20

el AR R vikeR Tek

(a) What is inferior good? How is it different .
from normal goods? Show it with the help
of indifference curves.

fig? S 57 FORE SIS 2 @RS
4% 7 [T @I RS (ST |
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( 4)

(b) Discuss how Slutsky equation explains
the relationship between change in price
of a good and demand for it.

AR AN @R TR ARG o SRS
&S =9 I FIARE, SCEACAT 41 |

(c) Suppose the purchase of a lottery ticket
is under consideration of an individual.
Let the prize be ¥ 5,000 which he will get
if he wins and suppose if he losses, he
will get the consolation prize of ¢ 10.
Further suppose that the probability of
his winning is 0-6. Find expected money
value of lottery ticket.

{1 T gu YRS 9B A1 B0 AR @
R ez I afewa @ w1 (@03
5,000 BFl FE AR WIF I TR, @
10 591 Fp=fa 3°01 o1 | SCF 41 7' @ TS
T SRRl 29 0-6. A'GRI BIBOR onfs

1 o Sfered |

(d) Define substitute and complementary
factors. Draw isoquants of perfect
substitutes and perfect complements in
production. Give examples.

s o AfRoRe TommR wigen a1 oo R
I 2 AR TAMIAL A T WS 41 |
TR fa |
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(S)

(e) “If there is free entry of new firms in the
competitive industry, price must fall to
the level of minimum long-run average
cost.” Explain.

“ofSeafiergere TaRe I AT AfOBER S
0, cofoq w1 fron TESER e W RIN
fraron Retat 2P o 17 < {0

() Give the various concepts of production
costs in brief.

B 9] ST qRarR syie for |

4. Answer the following questions : 10x4=40
o] 2T T

(a) ‘“Revealed preference theory makes a
major advancement in the theory of
demand.” Discuss. 10

“omep SefdT ©EBd oW REGR ke
TAfS iy FR_eE 1 e 41 |

Or-/ 941

Explain how indifference curve can be
derived using revealed preference theory.

2P NI TG SRS (TP MRAT @l
A9 #{1[<, TG 1
(b) How are average cost curve and marginal

cost curve derived from total cost curve?
5+5=10

T I @R R @S TS I @ AE A

T (1 I TR AR 2
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(6)

Or / 9«1

What is meant by optimum factor

combination in production? Explain with

the help of isoquant and isocost lines.
2+8=10

P BeAMI o6 e 3@ AW AR
CIR I A G1§ AAS I 41 |

(c) Explain the impact of change in rate of
interest on the consumers. Use

diagrams. 10
TSGR GRS T T RS oS <0
<41 | g Ta=® FRAT |
Or / 9471
Fill in the blanks in the following table :
3+3+3+1=10
o OISR {9 SRR R M
Number of Total Marginal Average
variable inputs output product product
ARTET T o B | 2o Beomrr | ow Seop
SRR SR
3 — 18 30
4 — 20 —
S 130 —_ —
6 — 5 —
s ey 1
7 19-2-
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(7))

Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal
returns begin?

GRS GLEY I CIeRIITS TRZPWE SeAmH
fSwfere e 7 M =, (O@ @I ARTSTHA
HIRAR (567 7R_ TR AT Lo SIS

= ?

(d) Critically discuss the law of variable
proportion. 10
AGee Sepeire [RfEGT  SCesTEeed
HICEAToAl <41 |

Or / 941

What are isoquants? Show the

increasing, constant and decreasing

return to scale through isoquants.
1+3+3+3=10

TR Q@41 2 R QYR RS
AL, AT S TP S €49
2T (YA |

* % %k
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